# कार्यालय जोधपुर नगर निगम दक्षिण

क्रमांक:— विकास / दक्षिण / 2022—23 / 1 🕏 १९

विनाक:-09/03/2023

# ः ई--निविदा सूचना ः

( यू.बी. संख्या DLB2223WSOB31276 ) नगर निगम दक्षिण जोधपुर की और से निम्नलिखित कार्यों हेतु भारत सरकार एवं राज्य सरकार के विभिन्न विभागों / स्वायतशाषी / निगमों / बोर्डो / राजकीय उपक्रमों में पंजीकृत ए.०ए व ए. श्रेणी में पंजीकृत तथा नगर निगम जोधपुर में निर्धारित श्रेणी में पंजीकृत नियमानुसार योग्य संवेदको से निर्धारित प्रपत्र में ई—निविदाएं आमंत्रित की जाती है।

### महत्वपूर्ण दिनांकों का विवरण

विवरण	दिनांक
ऑन लाईन निविदा फार्म जमा कराना प्रारम्भ होने की दिनांक व समय	13.03.2023. P. M. 03.00
ऑन लाईन निविदा फार्म जमा कराने की अन्तिम दिनांक व समय	28.3.2023 P.M. 12.50
ऑन लाईन निविदा खोलने की तारीख	28.3.2023 P. M. 3.00
निविदा शुल्क / धरोहर राशि की मूल प्रति अधीक्षण अभियन्ता कार्यालय में जमा कराने की दिनांक व समयावधि	28.03.23 P.M. 3.00

कं. स.	कार्य का नाम	लागत (राशि लाखों में)	धरोहर राशि	निविदा शुल्क	कार्य पूर्ण करने • की अवधि
1	Construction of urinal block at various places in wards at nagar nigam jodhpur south.	14.82	29,640/-	500/-	2 माह
2	Reparing work of dustbins in nagar nigam jodhpur south	13.42	26,840/-	500/-	3 माह
3	Construction of Community Toilet at Govt.Girls Sen. Sec. School Sardarpupra Rotary Circle	21.49	42980/-	500/-	6 माह

# निविदा की महत्वपूर्ण शर्ते निम्नानुसार है :--

- 1. निविदा प्रपत्रों को वेबसाईट http://eproc.rajasthan.gov.in से डाउनलोड किया जा सकता है। इन निविदाओं में भाग लेने वाले संवेदकों को निविदा को इलेक्ट्रोनिक फॉरमेट में वेबसाईट http://eproc.rajasthan.gov.in पर जमा करानी होगी।
- निविदा की प्रकिया ऑन लॉईन होगी।
- निविदा हेतु पात्र संवेदको की श्रेणी –

किसी भी सीमा तक	– एए श्रेणी, संवेदक
रूपये 300.00 लाख तक	– ए, श्रेणी संवेदक
रूपये 150.00 लाख तक	– बी, श्रेणी संवेदक
रूपये 50.00 लाख तक	– सी, श्रेणी संवेदक
रूपये 15.00 लाख तक	– डी, श्रेणी संवेदक

4. निविदा खोलने की तिथि को किसी कारणवंश यदि सम्पूर्ण निविदायें नहीं खोली जा सकती है, तो उसके अगले कार्य दिवस को शेष निविदायें खोलने का कार्य जारी रखा जावेगा। निविदा प्रकिया -

सडक अन्य निर्माण कार्य

पोटेशियल असेसमेंट 150 लाख से 500 लाख तक 500 लाख से अधिक तक

पोस्ट क्वालीफिकेशन 100 लाख से 200 लाख तक 200 लाख से अधिक :

	शुल्क वितरण	शुल्क	भुगतान का प्रकार	देय
1	निविदा शुल्क	उपरोक्तानुसार	डिमाण्ड ड्रॉफ्ट / बैंकर चैक	आयुक्त जोधपुर नगर निगम दक्षिण
2	धरोहर राशि	उपरोक्तानुसार	डिमाण्ड ड्रॉफ्ट / बैंकर चैक	आयुक्त जोधपुर नगर निगम दक्षिण
3	ई—टेण्डरिंग प्रकिया शुल्क	50 लाख एव उपर 1500/— 50 लाख से नीचे 500/— 1 करोड़ एवं उपर 2000/—	डिमाण्ड ड्रॉफ्ट / बैंकर चैक	MD RISL, JAIPUR

- 5. निविदादाता द्वारा निविदा शुल्क, धरोहर राशि एवं प्रकिया शुल्क हेतु निम्नलिखित राशि कि मूल प्रति जोधपुर नगर निगम कार्यालय में नियमानुसार निविदा खोले जाने के समय से पूर्व जमा करवाना आवश्यक है। निम्नलिखित छिमांड/बैंकर चैंक शुल्क ऑनलाईन निविदा फार्म जमाने की अन्तिम तिथि से पूर्व का होना आवश्यक है।
- 6. प्रदत दरें निविदा खोलने की दिनांक से 90 दिवसों तक निविदा स्वीकृति हेतु मान्य (Vaild) रहेगी। यदि निविदाकर्ता उस अवधि में अपनी निविदा अथवा शर्तों में किसी प्रकार का संशोधन करता है अथवा अपनी निविदा वापस ले लेता है, तो उसकी धरोहर राशि जब्त कर ली जावेगी।
- 7. यदि संवेदक के नजदीकी रिश्तेदार (प्रथम रक्त सम्बन्धी व उनके पति / पत्नी) कार्य से संबंधित अधीनस्थ कार्यालय में खण्डीय लेखाकार अथवा सहायक अभियन्ता से लेकर अधीक्षण अभियन्ता स्तर का किसी भी स्तर पर पदस्थापित हो, तो उसके कार्य पर नियुक्त करने पर प्रतिबन्ध रहेगा।
- 8. राज्य सरकार में किसी भी अभियांत्रिकी िभाग में किसी भी इंजीनियर अथवा इंजीनियर या प्रशासनिक कार्य पर नियुक्त राजपत्रित अधिकारी राज्य की अनुमित के बिना सेवा निवृति के 2 वर्ष तक संवेदक अथवा उसके कर्मचारी के रूप में कार्य नहीं कर सकेंगे। यदि संवेदक अथवा उसके कर्मचारियों मे कोई ऐसा व्यक्ति जिसने राज्य सरकार की उन्त लिखित अनुमति निविदा जमा कराने से पहले अथवा संवेदक के यहां से सेवायें लेने से पहले अनुमित नहीं ली है, तो अनुबन्ध रद्द किया जा सकेगा।
- 9. **उक्त आईटम की दोष** निवारण अवधि 3 वर्ष होगी।
- 10. निविदा में निविदादाताओं से अंतर राशि परफोरमेन्स सिक्यूरिटी के रूप में प्राप्त करने के पश्चात ही स्वीकृति निविदा का कार्यादेश दिया जायेगा।
- 11. किसी भी निविदा को रवीकार करने एवं विना कारण बताये निरस्त करने के समस्त अधिकार निम्नहस्ताक्षर कर्ता को रहेगा। RPWA 100 की समस्त शर्ते उस सीमा तक मान्य/लागु होगी जिस सीमा तक के राजस्थान लोक उपापन पारवर्शिता अधिनियम 2012 एवं नियम 2013 के विरोध में नहीं हो।
- 12. वित्त विभाग के आदेश संख्या एफ-(१)एफ.डी. / जी.एफ. एण्ड ए.आर. / 2007 दिनांक 30.09.11 (सर्कुलर नं. 19/2011) के अनुसार 50.00 लाख रूपये तक की राशि के कार्यों के लिए 500/- व 50.00 लाख रूपये से अधिक राशि के कार्यों के लिए 1000/- रूपये की राशि निविदा शुल्क के अतिरिक्त देनी होगी जो डिमाण्ड ड्राफ्ट या बैंकर चैक के रूप में देय होगी। यह डिमाण्ड ड्राफ्ट या बैंकर चैक मैनजिंग डायरेक्ट, आर.आई.एस.एल. े पदा में व जयपुर में भुगतान योग्य होना चाहिए।

की आवश्यकता होने पर ई-मेल व पत्र द्वारा डाक से सूचित किया जायेगा। रिंग के लिए निविदादाता हेतु निर्देश :-

- इन निविदाओं में दिलचस्पी लेने वाले निविदा दाता निविदा प्रपत्रो का इन्टरनेट साईट http://www.eproc.rajasthan.gov.in से देख/डाउनलोड कर सकते है।
- वाले निविदादाताओं भाग होने निविदाओं http://www.eproc.rajasthan.gov.in पर रजिस्टर करवाना होगा। ऑन लाईन निविदा में भाग लेने के लिए डिजिटल सार्टिफिकेट है इनफोरमेशन टेक्नोलॉजी एक्ट 2000 के तहत प्राप्त करना होगा जो इलेक्ट्रोनिक निविदा में साईन करने हेतु काम आयेगा। निविदादाता उपरोक्त डिजिटल सर्टिफिकेट ती.सी.ए. द्वारा स्वीकृत एजेन्सी से प्राप्त कर सकते है। जिन निविदादाताओं के पास पूर्व में ै। डिजिटल सर्टिफिकेट है, नया डिजिटल लेने की आवश्यकता नहीं है।
- निविदादाताओं को निविदा प्रपान इलेक्ट्रोनिक फार्मेट में उपरोक्त वेबसाइट पर डिजिटल साईन के साथ प्रस्तुत करना होगा। िलाके प्रस्ताव अकेले भौतिक फॉर्म में स्वीकार्य नहीं होगा।
- इलेक्ट्रोनिक निविदा प्रपत्रों को जया कराने से पूर्व निविदादाता यह सुनिश्चित कर लेवे की निविदा प्रपत्रों से संबंधित सभी आवश्यक दस्तावेजों की स्केन कॉपी निविदा प्रपत्रों के साथ अटेच कर दी गयी है।
- कोई भी टेण्डर इलेक्ट्रोनिकली जमा कराने से किसी कारण से लेट हो जाता है तो उसका जिम्मेदार विभाग नहीं होगा।
- टेण्डर के प्रपन्नों में आवश्यक राणी सूचियों को सम्पूर्ण रूप से भरकर ऑन लाईन दर्ज करे।
- 15. निविदायें राजस्थान लोक उपापन पारदर्शिता अधिनियम 2012 एवं नियम 2013 के अन्तर्गत आमंत्रित की जाती है। उपर अंकित समस्त प्रावधान / वंधन उस सीमा तक ही लागु होंगे जिस सीमा तक दे उस बिन्दु में उल्लेखित अधिनियम एवं नियमों के विरूद्ध नहीं हो।
- 16. आयुक्त नगर निगम जोधपुर के आदेश क्यांक 9836 दिनांक 07.02.2020 एंव 9975 दिनांक 14.07.2020 के अनुसार पंजीयन रिव्यू आवेश के तहत निविदा स्वीकार/अस्वीकार की जायेगी।
- 17. राजकीय अवकाश की रिथति में अमाने कार्व दिवस की तिथी मानी जायेगी।
- 18. श्रीमान् निदेशक, स्वायत्त शासन् विभाग राजस्थान जयपुर के आदेश कमाक 144612-825 दिनांक 22. 11.2021 की पालना में ित्त विभाग की अविसूचना दिनांक 22.10.2021 अनुसार आर.टी.पी.पी. नियम 2013 में Additional Performance Security के लिए नियम 75 -ए के अनुसार Additional Performance Security जमा करानी होगी

जोधपुर नगर निगम दक्षिण

# जोधपुर नगर निगम, जोधपुर-दक्षिण

क्रमांकः— विकास / दक्षिण / 2022—23 / **13 99** 

दिनांक:-09/03/23

ः ई-निविदा सूचना ः

( यू.बी. संख्या	)
-----------------	---

नगर निगम दक्षिण जोधपुर की और से विकास कार्यो हेतु ऑनलाईन निविदा आमंत्रित की जाती है, कार्यों की विस्तृत जानकारी एवं शर्तो इत्यादि वेबसाईट http://eproc.rajasthan.gov.in, sppp.raj.gov.in पर व जोधपुर नगर निगम दक्षिण की वेबसाईट urban.rajasthan.gov.in/mcjs देखी जा सकती है।

I.A.S.

आयुक्त जोधपुर नगर निगम दक्षिण दिनांक:- 09 03 2023

कमांक:- 1400 to 1467

प्रतिलिपि:- सूचनार्थ एवं आवश्यक कार्यवाही हेतु।

1. श्रीमान जिला कलेक्टर महोदय, जोधपुर।

निदेशक / अधीक्षण अभियन्ता, स्थानीय निकाय विभाग, जयपुर।

अधीक्षण अभियन्ता / अधिशाषी अभियन्ता, सा.नि.वि. / जोधपुर विकास प्राधिकरण जोधपुर।

वरिष्ठ लेखाधिकारी, जोधपुर नगर निगम दिशण।

5. राजस्थान संवाद, जयपुर को भेजकर लेख है कि निविदा सूचना एक राज्य स्तरीय एवं एक क्षेत्रीय स्तरीय समाचार पत्र में प्रकाशन हेत् जिजवान एवंम् समाचार पत्र के नाम बाबत् ईन्टीमेशन मेल नगर निगम जोधपुर दक्षिण को भिजवाये।

6. श्री रामेश्वर गहलोत, प्रोग्रागर नगर निगम जोशपुर दक्षिण को भेजकर लेख है कि ई-निविदा सूचना urban.rajasthan.gov.in/mejs एवं sppp.rajasthan.gov.in, पर अपलोड़ करें एवम् निविदा सूचना प्रकाशन हेतु राजस्थान संवाद जयपुर को मेल के माध्यम से भिजवायें।

7. सहायक अभियन्ता को भेजकर ेख े कि कार्यो की जी–सारणी एवं ई–निविदा सूचना http://eproc.rajasthan.gov.in पर अवलोड करे।

सूचना पट्ट जोधपुर नगर निगम अक्षिण।

- 28/02/2023 - 28/02/2023 - 28/02/2023

₩C	WORK:- Construction of urinal block at various places in wards of nagar nigam jodhpur south	r nigam jod	hpur sout	3	outh
-	o. Particulars	Q.	Unit	R	Amount
1.00 RUIDP 2022 4.10.1.1	Earth work in excavation in foundation, trenches etc. including dressing of sides and remming of bottoms, including getting out the excavated material, refilling after laying pipe/ foundation and disposal of surplus excavated material at a lead upto 50m sulfable site as per direction of Engineer for following depths, below natural ground/ Road top level  Depth upto 1.5 m	42.64	E .	210.50	8975.19
2.00 RUIDP 2022 21.1.7	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level: 1:4:8 (1 Cement: 4 finel coarse sand: 8 graded stone aggregate 40 mm nominal size).	15.30	g Sum	4340.00	68421.53
3.00 RUIDP 2022	Random rubble masonry with hard stone in foundation and plinth Cement mortar 1:6 (1 cement : 6 coarse sand)	49.80	SE TI	4245.00	211403.55
4.00 RUIDP 2022 25.7.1	Coursed rubble masonry (second sort) with hard stone in foundation & plinth with : Cement mortar 1:6 (1 cement : 6 coarse sand)	64,89	cum	4930.00	319883.05
5.00 RUIDP 2022 25.2	P Extra for coursed rubble measury with hard stone (first or second sort) in superstructure above plinth level and upto two stories	64.89	cum	890.00	57747.65
6.00 RUIDP 2022 32.3.2	Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of joints atc. with 20 mm cement plaster of mix: 1.4.1 cement; 4 fine coarse sand.	379.00	sqm	283.50	107446.50
7.00 pwd 1.17	ω	20.00	each	764.00	15280.00
8.00 RUIDP 2022 27.11	Providing and fixing 1st quality standard white, grey, ivory, furne red brown, light green, light blue and other light shades glazed tiles confirming to IS: 13733 & IS: 15822 of size 200mm x 300mm in walls, floors, steps, pillars etc. laid on a bed of neat cement abury finished with flush pointing in the white cement mixed with pigment to match the shade of the tile complete (excluding the cost ofcement plaster on walls and pillar).	379.00	<b>s</b> qm	837.00	317223.00
9.00 RUIDP 2022 27.12	PP Providing and fixing 1st quality MAT finished ceremic tile size 300x300mm confirming to IS: 13755 and IS: 15822 colour such as write, grey, ivory, fure red brown, light green, light blue and other light shades in floors, steps, pillars etc. laid on a bed of neat cement slurry finished with flush piclining in the white coment mixed with pigment to match the shade of the tile complete (including the cost of cement mortar bed 1:4).				0.00
T	Floor	45.18	sqm	814.00	36776.52
10.00 RUIDP 2022 36.7.1		5.00	each	2620.00	13100.00
11.00 pwd	1.30 Filling available excavated earth (excluding rock) in trenches, plinth side of foundation etc. in layers not exceeding 20 cm. in depth, consolidating each deposited layer by ramming and watering including lead upto 50Mtr. and lift upto 1.5Mtr.	27.11	cum	52.00	1409.62
12.00	Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x280x350mm and 340x410x285mm sizes respectively with automatic flushing clatern with standard flush pipe and C.P. brass spreaders with brass unions and G.I. clamps complete, including panling of fittings and brackets, cutting and making good the walls and floors wherever required. One urinal basin with 5 litre white P.V.C. automatic flushing cistern.	20.00	each	4505.00	90100.00
13.00 RUIDP 2022 34 19 1 2		15.00	each	705.00	10575.00
14.00 RUIDP 2022 34.9.3	DP Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & coid water supply including all CPVC plain & brass threaded attings. This included joining of pipes & fittings with one step CPVC solvent cement, tenching, refilling & testing of joints complete as per direction of Engineer in Charge. External work				
	15 mm nominal outer dia .Pipes.	100.00	metre	187.00	18700.00
15.00 RUIDP 2022 17.26.1		150.00	metre	267.50	40125.00

				Say	14.82 lacs
				Total	1482525
	75mm thick	90.36	sqm	721.00	65149.56
30.3.2	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded 20mm nominal size stone aggregate) finished with a floating coat of neat cement including cement siurry, but excluding the cost of nosing of steps etc. complete.				0.00
		34.11	sqm	1664.00	56759.04
		8,10			0.00
	with somixture or pigniture matering with the distributions	28.01			0.00
25.3	Supplying and fixing machine cut fine dressed Red/Pink sand stone dasa or coping, with full moulding if required laid on cement mortar 1:4 including pointing with admixture of pigment matching with the stone shade, 75 mm thick				0.00
1	15 mm PTMT bib cock	35.00	each	95.00	3325.00
	Cm. long pipe and rid.  Flush Cock/Flush Valve (IS:9758 Mark) or WC of approved quality make:  P brass Half-turn exposed 25 mm nominal bore.	5.00	Each	547.00	2735.00
	Connection (Angle Valves) Superior quality, of approved make, for in, Gyser etc. C.P. Inlet connection 15 mm Brass (IS.8931 marked).  Cm. long pipe and nut.	20.00	each	432.00	8640.00

Terms and Condition :-

1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।

2 कार्य स्थल पर अमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।

अजी सारणी में विणित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।

4 कार्य स्थल पर कार्य सम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।

टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।

कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो / विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।

7. दोष निवारण अवधि नियमानुसार रहेगी ।

8. दरें 4 माह तक मान्य रहेगी

9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule.

(Signature of Contractor)

## FICE OF THE MUNICIPAL CORPORATION South, JODHPUR G-SCHEDULE Sr. 110: 02

NIT NO.	sr No. 1399 · 28/3/23
ast Date	Earnest Money: Rs 840
Date of F	CR No Dated

Copy issued to M/s ......

based on Ruidp bsr 2022

of Work - Repairing work of dustbins in Nagar Nigam Jodhpur South

me of	Work - I	Repairing work of dustains in Hagar Higam 55	qty	unit	Rate	Amoun	
S.no.		Items	447	unit.		1	
1		ladder, railings, brackets, gates and similar works.	5000	kg	117.5	587500	
2	32.50.1	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work	1000	sqm	97.5	97500	
3	33.50.1	Painting on G.S. sheet with synthetic enamel paint of	1000	sqm	57.7	57700	
	-	Galvanised steel plain sheets	10000	kg	59.95	599500	
4						1342200	
		Total Say				13.42 lacs	

### Terms and Condition :-

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- ठंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

**EXECUTIVE ENGINEER** 

NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule.

(Signature of Contractor)

# JODHPUR NAGAR NIGAM JODHPUR SOUTH

G-SCHEDULE

1.399 Date 09 | 0.5| 2023

In No of Sale :- 28 | 2| 2523

In the of Receipt:- 28 | 3| 2023

Date of Receipt:- 28 | 3| 2023

Copy issued to M/s ......

ONSTRUCTION OF Tollet at Govt. girls senior secondary school sardarpura, rotary circle

														0	Ch	4	ω	N			
16	15	4	13	12	⇉	6		OD.	(	0			7		- 0,		-	~	-/3	èè	See !
RUIDP 2022 36.1.1	RUIDP 2022 36.2.1	RUIDP 2022 27.12	RUIDP 2022 27.11	92.3.2 pwd 1.17.3	23.19.3 RUIDP 2022	RUIDP 2022		5	3	22.1.3	3	22 1 2	24.12.2	RUIDP 2022	RUIDP 2022	7 /2	RUIDP 2022	RUIDP 2022 21.1.7	RUIDP 2022 4.10.1.1	,	OF WORK:- CC
Providing and fixing water closet squatting pan (Indian type W.C. pan ) with 100 mm pand cast fron P or S trap, 10 litre low level white P-V.C. flushing cistem with manually controlled device (handle level) orderming to IS : 7231, with all fittings and fixtures complete including cutting and making good to IS : 7231, with all fittings and fixtures complete including cutting and making good to IS : 7231, with all fittings and fixtures with the several fixed in the several fixed in the several fixed in the several fixed in the several fixed f	Froviding and fixing white vireous chine pedestal type water closet (European Nybe Wuldpan) with seat and lid. 10 litre low level white P.V.C. flushing datem with manually controlled device financie leven), conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid	Providing and fixing 1st quelty MAT Inshed ceremic tile size subsolution commitmit up. 15: 13755 and IS: 15852 colour such as white grey, lvory, furne red brown, light green, IS; 13755 and IS: 15852 colour such as white grey, lvory, furne red brown, light green, Ising the subsolution of the subsol	Providing and fixing 1st quality standard white, gray, loop, furne red brown, light gree light blue and other light shades glazed ties confirming to IS: 1373.8 IS: 13822 of size. Inght blue and other light shades glazed ties confirming to make the comment sharp 200mm x 300mm in walls, floors, steps, pillars etc. laid on a bad of neat comment sharp 200mm x 300mm in walls, floors, steps, pillars etc. laid on a bad of neat comment sharp finished with flush pointing in the white cement mixed with pigment to match the shade finished with flush pointing in the white cement plaster on walls and pillar).	cerimin. A mine Journal Partition sieb both sides pollshed of approved design cut from P. & F. Marbie Unitral Partition sieb both sides pollshed of approved design cut from marble size 900x900mm. IS 2556 (Part VI Sec.4)- 1995. Makrana 'Adanga' or Raj Nagar marble size 900x900mm. IS 2556 (Part VI Sec.4)- 1995. Makrana 'Adanga' or Raj Nagar ISI Quality White or Andhi Indi-Italian marble.	Cement plastering including T&P, scaffolding, material and complete labpour, including coat of water, curing, reaking of joints etc. with 20 mm cament plaster of mix: 1.4 (1 coats).	20 mm noninel stat. As per design mix).  20 mm noninel stat. As per design mix).  Reinforcement for RC C. work at all levels including straightening.cutting, bending, beating in position and binding all complete Cold twisted bars.	15' landings, balconies, stierves, knapper, incompany (contring, shuttering, finishing) and spiral stair cases upto two stories excluding the cost of centring, shuttering, finishing and elinforcement:  12-On Grade Concelle (1:1):3 (1 cement: 1% coarse sand : 3 graded storie apprepate	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto	the cost of centring, shuttering, finishing and reminusement. An investigate 20 mm nominal size)	Suspended floors, roofs, landings, balconiles and access platrorm.  Suspended floors, roofs, landings, balconiles and access platrorm.  Providing and laying in position specified grade of reinforcement all work unto plinth level:	etc.	Walls (any thickness) including attached pliasters, buttresses, plinth and string courses	Centring and shuttering with plywood or steel sheet upto two stories or height upto 7.5 mate above plinth level including strutting, propping etc. and removal of form for:	Half brick masonry with FPS bricks of class designation 75 in superstructure above plinth level upto two stories. Cement mortar 1:4 (1 cement: 4 coarse sand)	Extra for coursed rubble masonry with hard stone (first or second sort) in superstructure above plinth level and upto two stories	Coursed rubble masonry (second sort) with hard stone in roundation or primit much coment mortar 1:6 (1 cement :6 coarse sand)	d plinth Cement mortal	Providing and laying in position coment concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level: 1:4:8 (1 Cement: 4 fine/ coarse sand: 8 graded stone apprepate 40 mm nominal size).	Earth work in excession, and of the excevated material, refilling after laying ramming of bottoms, including getting out the excevated material at a lead upto 50m suitable pipe foundation and disposal of surplus excevated material at a lead upto 50m suitable pipe foundation and disposal of surplus exevated material at a lead upto 50m suitable pipe for disposal of Engineer for following depths, below natural ground/ Road top level  Depth upto 1.5 m	Particulars  Particulars  Particulars	CIVII Work
7	•	52.58	141.03	4.00	564.98	850.00	5.44		6.62		10.37	9.78		56.13	61.28	61.28	57.34	9.93	80.87	æ	
each	each	<b>s</b> qm	<b>s</b> qm	each	sqm	6	œ m		cum		sqm	sqm		e a	e e	e B	E G	cum	e m	Con	
4775	4595	814	837	764	284	65	7030		6200		404	337		704	890	4930	4245	4340	21	25.0	
33425	36760	42797.678	118042.11	3058	160171.9718	54825	108586.0475	•	41013	0	34646.232	3296.871	o	39512	54534.75	302085.75	243426,978	43081.878	17024.00858	2 income	

70622.5625	125	sqm	564.98	35 KUIDF Dissipparing with oil bound washingte distainable in approved union of an analysis of 2022 give an even shade New work (two or more coats) over and including priming coat with 32 30.1 cement primer.
6825	97.50	sqm	70.00	30.50.1
8840	88.40	Ğ	100.00	of Engineer.  33 Providing and fixing T-iron frames for doors, windows and vanillators of mild steel Tee- providing and fixing T-iron frames for doors, windows and vanillators of mild steel Tee- sections, joints mitted and welded with 15x3 mm lugs 10cm long embedded in cement conceils blocks 15x10x10 com of 13x8 (1 campent; 3 coarse sand; 6 graded stone aggregate 20 mm nominal stee) or with wooden plugs and screws or with dash fisationer or rawl plugs and screws or with fixing clips or with boits and nuts as require including fixing of necessary but hinges and screws and applying a priming coat of approved steel primer.
299.7	92.50	<b>s</b> qm	3.24	Providing and fixing angle iron frame 25 x 25 x 3mm for ventilators fixed with 24 gauge square meah of 14 gauge stainless steel wife including 10 mm square bars at interval of 100 mm welded to frame with neath beading of 20 x 3mm complete in all respect as per technical specification and as per direction
15186.325	253	Sqm		17.28.2 160 mm nominal dia  Typoding and laying 20 to 25 mm size glazed tiles pieces for roof treatment having  PWD Providing and laying 20 to 25 mm size glazed tiles pieces for roof treatment having  SR colour and shade as approved by the Engineer incharge over 25 mm thick layer of  BSR coment mortar mith 1-4 with application of earment surry including finishing of joints with  2018 continuity cement and curing etc. complete in all respect. Washing with acid.
13375	267.5	metre	50	
9480	474.00	each	20.00	
62400	15600	each	4.00	25 mm nominal outer dis. Pipes.  25 mm nominal outer dis. Pipes.  26 pwD P & F PVC Storage Tank (IS:12701 marked indicating the BIS license No.) of approved P & F PVC Storage Tank (IS:12701 marked indicating the BIS license No.) of approved p & 25 Cm. long wash out pipe make with cover, 25 mm die 1 M long G.I. overflow pipe & 25 Cm. long wash out pipe make with ping & socket, including making connection etc. complete of approved design.  2018 with ping & socket, including making connection etc. complete of approved design.
18450	308	metre	60.00	15 mm nominal outer dia .Pipes.
0				2022  3.19.1.2 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal Rulipp Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pile & brass threaded fittings.  27 Providing and fixing Chlorinated Polyvinyl Including all (CPVC) pile & brass threaded fittings with one step CPVC solvent cement, tenching.  34.9.3 This included jointing of pipes & fittings with one step CPVC solvent cement, tenching.  34.9.3 This included jointing of pipes as per direction of Engineer in Charge. External work and the pipe of the complete solvent of the pipe of th
2820	705	each	4.00	0
32814.9	1083	<b>s</b> qm	30.3	directions of Engineer-In-Chairge. (Journally and Providing and Scholland Providing Providing Scholland Provid
43850	438.50	6	100.00	directions of citigatives with coots, windows, ventilators and partitions with providing and thing aluminium work for doots, windows, ventilators and other sections of 24.  RUIDP Providing and thing aluminium work for doots, windows, ventilators and other sections of 2022 extruded built up standard tubular sections' appropriate Z sections and other sections of approved make conforming to IS. 733 and IS. 1285, fixed with raw plugs and screws or approved make conforming to IS. 733 and IS. 1285, fixed with raw plugs and ViC/neoptrens felt etc. Aluminium purctions, at top, bottom and sides with required V-C/neoptrens felt etc. Aluminium purctions, at top, bottom and sides with required V-C/neoptrens felt etc. Aluminium shall be shootin, rust free, straight, mirred and jointed mechanically wherever sections shall be smootin, rust free, straight, mirred and jointed mechanically wherever sections shall be smootin, rust free, straight, mirred and jointed mechanically wherever sections of cleat angle, Aluminium anap beading for justings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the brass / stainless steel screws, all complete as per architectural drawings and the screws of
243600	406	6	600.00	providing and fixing aluminium work for doors, windows, wentilators and planeous at extruded built up standard tubular sections a ppropriate Z sections and other sections of approved make conforming to (S; 733 and IS; 1285, fixed with rewl plugs and screws or approved make conforming to (S; 733 and IS; 1285, fixed with rewl plugs and screws or with fixing clips, or with expansion hold fasteners including necessary filling up of geps at with fixing clips, or with expansion hold fasteners including or leaf top, bottom and sides with required PVC/neoprens fell etc. Aluminium functions, at top, bottom and sides with required and jointed mechanically wherever sections shall be smooth, rust free, straight, mitted and jointed mechanically wherever required including cleat angle, Aluminium snap beating for glazing / panelling. C.P. required including cleat angle, Aluminium anap beating for glazing / panelling. C.P. to the standard of scholars and complete as per architectural deswings and the plane of scholars and scholars.
18020	4505.00	each		providing and fixing white vitreous china flat back or wall comer type lipped front urinal providing and fixing white vitreous china flat back or wall comer type lipped front urinal basin of 450/280/350mm and 340/x410/2855mm sizes respectively with statemated flushing citem with standard flush pipe and C.P. brass spreaders with brass unions and flushing citem, including painting of fittings and brackets, cutting and making good G.I damps complete, including painting of fittings and brackets, cutting and making good the walls and floors wherever required: One urinal basin with 5 litre white P.V.C. submatic flushing cistem.
9638	245.95	cum	40	Carriage of Materials by mechanical transport including loading, unloading and stacking
1230.3018	52	eu m	23.66	see: In layers not exceeding 20 cm. in depth, consolidating each deposited layer by law list and watering including lead upto 50Mtr. and lift upto 1.5Mtr.
22226.40098	1838	cum	12.09	handburn rubble dry stone Kharanja (soling) under floor.
3816	954	each	4.00	And the mirror of superior glass (of approved quality) and of required shape and shall mirror of superior glass (of approved make and shade with 6 mm thick hard mirror mirror plastic moulded frame of approved make and shade with 6 mm thick hard mirror mirror plastic manual shape 453x357mm
15720	2620.00	each	6.00	basin with C.I. brackets, 15 mm C.P. brass pillar taps,32 mm spandard pattern, including painting of fittings and brackets, cutting spandard brawalls wherever require: White Vitreous China Wash basin size appear of 15 mm C.P. brass pillar taps.

	O.		c <sub>n</sub>	4		ω	2						
E060123 E060132	E0601103 RUIDP 2022 E060100	E0501101	E040107 E040114 RUIDP 2022 E050100	RUIDP 2022 E040100		E010201 E010202 E010203	E010200 QQ	E010101 (b E010103 (c	2000 00 00 00 00 00 00 00 00 00 00 00 00	1			
Double Pole MCB 6 A to 32 A rating Triple Pole MCB 6 A to 32 A rating	150mm x 50mm x 5	1 1 1	2 x 4.0 sg. mm. 1 x 2.5 sg. mm. 2 x 4.0 sg. mm. 2 x 4.0 sg. mm. 4 x 2.5 sg. mm. 1 x 2.5 sg. mm. 2 x 4.0 sg. mm. 4 x 2.5 sg. mm. 2 x 4.0 sg. mm. 4 x 2.5 sg. mm. 2 x 4.0 sg. mm. 2 x 2.5 sg. mm	Supplying and deswrite 'N ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' '	Short point (up to 3 mtr.)  Medium point (up to 6 mtr.)  Long point (up to 10 mtr.)  Long point (up to 10 mtr.)	Short point (µp to 3 mtc.)  Medium point (µp to 10 mtc.)  Long point (µp to 10 mtc.)  Long point (µp to 10 mtc.)  Wining of 8 pin 15 amp. Light power point with 4.0 ag mm PVC insulated unaheathed wining of 8 pin 15 amp. Light power point with 4.0 ag mm PVC make in authors solid 1 stranded cooper conductor 1.1 kV grade of approved make in authors solid 1 stranded opper conductor 1.1 kV grade of approved make in authors about 1.2 km and 1	Winding or twin control light. If the / call bell point as per PWU specification for electrical works with ISI marked 1.5 ag mm nominal tate RF PVC insulated unshalted flexible copper conductor 1.1 kV grade (IS.984) and 1.5 ag, mm nominal size RF PVC insulated unshalted flexible copper earth conductor 1.1 kV grade (IS.984) in a necessary of the results of the proper search conductor 1.1 kV grade (IS.984) in a necessary is marked MMS (IS.9537 P - III) vergin material PVC conduit 8.1% all excessories (IS.9537 P - III) vergin material PVC conduit 8.1% all excessories (IS.9537 P - III) vergin material PVC conduit 8.1% all excessories (IS.9537 P - III) vergin material PVC conduit 8.1% all excessories (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers atc. (IS.9538 P - 1995), Al. alloy cadmium plated iron excess 20 mm cup weathers	(a) Short point (up to 3 mtr.) (b) Medium point (up to 6 mtr.) (c) Long point (up to 10 mtr.)	in the property of the propert	Particulars	ELECTRICAL WORK	TOTAL A CIVIL WORK B.	C.P. Inde Connection 15 mm Break (15 6631 market), with 37 Cm, long C.P. Inde (18:8756 Mark) or WC of approved quality make : C.P.
3.00		4.00	150.00		10.00	5.00		15.00		\$		16.00	15,00
each	del	each each	mt	mer constraints	Point	Point	Popular	Point Point		Sale Me		E 5	ee/h
ch 417		2 & 2	73	51	809	577 788	331	320		Fat.		2	432
17 1251 54 1962	Č	180	10000	10200	8220 8090	2886 3946	Š	9480		Amount	1993992	8206	282

	16	15	4		ü	12	=	10	ω	1	
	E150401 RUIDP 2022 E150700	E140601 RUIDP 2022 E150400	RUIDP 2022 E140600	RUIDP 2022 E140200	E110113 RUIDP 2022 E140200	RUIDP 2022 E110100	RUIDP 2022E07210 0	RUIDP 2022 E070400	2022E06100 0 E061011	RUIDP 2022 E061100 E061112	E080442
	Without Remote  Providing & Fixing of of M.S. J. hook of standard design made out of 16 mm dia. M.S. round bar and fixed with cement concrete mortar with required support as required.	17   20mm x 3mm copper strip	Supply & Laying following size earth strip in horizontal or vertical run in ground/surface/recess including riveting, soldering, saddles, Johning shall be done by overlapping and with 2 set of Brass (for Custrip) / Gi (for Gi Strip) rut bolt & spring washer spaced at Storm making connection etc. as required. All as per pre approved by Engineer in charge. For additional technical parameters of products/work , refer Annexure "A" attached with this BSR.	Plate Earthing as per PWD specification for electrical Works as per IS3043 with Hot dipped Gi. Earth plate of size 800mm x 600mm x 60mm by embodying 3 to 4 mtr. below the ground level with 20 mm dia. Gi. 18 class watering Pipe Including all accessories like nut, bolts, reducer, hipple, wire meshed funnel, and bleavy duly weather proof polypropylene earth pit chamber with lockable Jam free id a suitable for safe working load 5000 Kg or more of size Top Dia 225 to 280 mm. Bottom Dia 300 to 350 mm. and Height 250 to 300 mm. and embodying the pipe complete with alternate layers sait and coker charcoal, testing of earth resistance for value of 5 ohms or less as required & must record by engineer in charge during site valit and ensure to enter in measurment book. All as aper pre approved by Engineer in charge. For additional technical parameters of products/ work, refer Annexure "A" stacched with this BSR.	10.0 Sc. mm E140200 Plate Earthing as per PVID specification for electrical Works as per IS:3043 with Hot dipped Gi. Earth plate of size 600mm x 600mm x 6.0mm by embodying to 4 mir. below the ground level with 20 mm dia. Gi. 'B' class watering Pips, including all accessories like nut, bots, reducer, nipple, wire meshed funnel, and Heavy duty weather proof poly-propylene earth pit chamber with lockable. Jam free id suitable for safe working load 5000 Kg or more of size Top Dia. 225 to 280 mm, Bottom Dia 300 to 350 mm, and claely charcosal, testing of earth resistance for value of 5 others or less as saft and cooker charcosal, testing of earth resistance for value of 5 others or less as required & must record by engineer in charge during site visit and ensure to enter in	Providing & Laying P.V.C. / XLPE insulated & P.V.C. sheathed Unamoured /Armoured aluminium cable of 1.1 KV grade as per PWD specification for electrical Works in existing RCC / Hume / Stoneware / PVC pipel open duc/cable trench with filling of excavated earth in trench, on existing cable trays or on surface etc. including making necessary connection, testing etc. as required of size and as per points (a), (b), (c), necessary connection, testing etc. as required of size and as per points (a), (b), (c), and the provided of the state o	Providing & Fixing of non modular socket size flush type 120 watt rotary minimum 5 step fan regulators as per PWD specification for electrical Works, ISI marked (IS:11037) made out from industrial grade Polycarbonate or fire resistant ABS material including making connection testing etc. as required. All as per pre approved by Engineer in charge. For work, refer Annexure "A" attached with this BSR.	22 A 3 (n) (27+5)  22 A 3 (n) (27+5)  Providing & Foxing of 3/6 pin 16 amp flush type non modular socket as per PWD specification for feetbrail Works, made out fromindustrial grade Polycarbonate or fire resistant. ABS material, brass terminal with Porcelain based back cover a captive screws including cutting hole in this and making comnection testing etc. as required. All as per type approved by Engineer in charge. For additional technical parameters of products/ work, refer Annexure 'A' attached with this BSR.	Towning & Foing of Industrial plug and socket as per PWD specification for electrical Works conforming to IEC 60309-1/2 made out of self extinguishing engineering polymer connection etc. as read complete in all respect CEM shall have submit NABL / CPRI / Engineer in Charge For additional technical parameters of products/ work in refer to Annexure.	Troviding 8 Fixing of IKO9 rating recessed/auriace mounting heavy duty Vertical type sizest also not use then 1.2 mm thick Distribution board as per PWD specification for the Weigligs 180 marked	S S S S S S S S S S S S S S S S S S S
3.00	3.00	20.00			20.00	On	10.00	10.00	2,00		
each	Each	mtr	80.		mit mit	Each	each	ra co	n 9	each	
111	2502	400	3832		78 78	139	46	452 533	4836	3211	
333	7506	9000	3832		1520	895	480	4620 5330	90	5626 6422	

	20	3		6			
F170201	RUIDP 2022 E170200	E170911	2022 E170900	RUIDP		000	
4' LED Tube shape fixture 18/20 W (Polycarponate pase) Facilities	Providing & Fixing of IP20 SMD Mid Power LED batten type integrated light foture medition pollycathonate learnuded summinum power coasted housing with in built driver. Power Consumption of 18W/20W, system lumen efficacy ≥ 120 in/Watt output, internal surge protection of 2.5 KmW mid South Spen circuit provided in 17% of 10%, jp.120.5% carry power consumption 5000 Buppin circuit provided in 17% of 10%, jp.120.5% carry power consumption 5000 Buppin circuit provided in 17% of 16% jp.120.5% carry maintained till life ends. CCT 3000°K / 8700°K /8000°K /8500°K /8500°K (As por AMS) Bibli), maximum power consumption should not more than the specified and Fixture shall be of BIS standard and trade mark certificate (T.C.). Manufactures Word MarkV Name Engravedtrabelship Sociilles printing to Bousing. CEM must share its own in house NABIL list sharp for provided with the SRR.	36W LED light fixture 2'x2' with acrylic / prismatic front cover. Each	Involving & Fixing of IP40 LED Surface/ Recessed / suspended mounting Mid power SMD type LED Light flature made from CRCA sheet seel housing, high purity / transmistivity UV stabilized Non - yellowsha diffuser for uniform light distribution. High efficiency with 2.5 KV internal-estemal surge protection BIS certified isolated driver standards (integral with light fixture), System furnen afficacy of 2.120 inv/vist THD < 10 %, p.15.0.9 S.CR + 280, life time of minimum 500.00 Burning Hours with 7.79% of intal Lumen maintained till life ends . CCT 3000°K / 4000°K / 5000°K/5500°K (/as per ANSI BIN) , maximum power consumption should not more than the specified rating and Fixture shall be of BIS standard and trade mark certificate (T.C.). Mantfactures Word Industry Name Engineed Embossing/ Screen printing on housing. CM must have the fixed that the section of the control	LED Downlight 14/15W	Dimmable Back III SMD Mid Power LED Demmiplic with die-cast eluminum housing & Reat ISM Commiplication with UV Stabilized non-yellowish Diffuser with infernational BIS complience 2.5 KV surge protected teolated driver, with Short & Open Lumen efficacy of a 120 km / wett, THO < 10 %, p. 12.0 95, CRI > 80, If the ends . CCT 3000°K / Should not might always of a 120 km / wett, THO < 10 %, p. 12.0 95, CRI > 80, If the ends . CCT 3000°K / Should not more with 1500°K (As per ANS Bin) , maximum power consumption and conflicate (T.C.), andicatives a Word Mark Name Engraved Emposarior Screen intelliges for LED factures (LRO) with 150 km (As per ANS Bin) and Fixture shall be of BIS standard and trace printing on housing. CEM must have its own in house NABI lab setup for all testing facilities for LED factures. (LNG) carificate / Report from Dotting. CEM must have its own in house NABI Lab setup for all testing All as per pre approved by engineer in charge . (The additional technical parameters of product work, refer Annexure "A stacheded with this BSR.	300 mm sweep(900/1400 RPM)	
	88	4.00		8		8.8	
DICAL MODE D	Each	Each		E C		Each	
	z.	2413		707		2216	
Craz)	<b>1</b>	25.52	277	22.		18528	

"My of Heavy duly capacitor start, copper woind Double ball bearing ...My single phase Exhaust fan as per PWD specification for electrical Works, by to IS2312 ISI marked in existing opening including making connections in eas required. OEM shall be an ISO certified company. Appropriate OEM least "infeate shall be submitted by contractor. All as per pre approved by Engineer in charge. For additional technical parameters of products/ work , refer Annexure. "Xi attached with this BSR."

E170201

4' LED Tube shape fixture 18/20 W (Polycarbonate Base) Each 235.00

8.00 Each
TOTAL B ELECTRICAL WORK Rs.
GRAND TOTAL A+B RS

3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।

आधार पर करवाये

4.कार्य स्थल पर कार्य सम्बंधित सूचनाएं दर्शाने वाला बोर्ड संदेदक को स्वयं के स्तर पर लगाना होगा। 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी। 7. दोष निवारण अवधि नियमानुसार रहेगी । 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थान की फोटो/विवियोगाफी सीढी आवश्यक रूप से कार्यात्य में जमा कराने होंगे। दरें 4 माह तक मान्य रहेगी
 सशर्त निविदा स्वीकार नहीं होगी ।

I/We hereby agree to do the above work @

Above/below the "G" Schedule.

NAGAR NIGAM SOUTH JODHPUR

EXECUTIVE ENG